



The official newsletter of the Salina Region SCCA

As I mentioned in the last newsletter we have a big event coming June 3rd and 4th. This is the Salina Divisional – our round in the SPS/R&S Midwest Division Solo Championship – and we will need a lot of assistance from our members.

It's also important to have as many Salina Region members as are able compete in the event and present a good showing to the rest of the division. But the best reason is just to enjoy the fun on another level. You can enter either Saturday or Sunday separately, or both days. In one sense, it's "just our June autocross," but also you get to experience and enjoy a larger, more structured event. It's pre-entry only, no walk-ins, and you need to be there a little earlier than usual. Check the schedule on MotorsportsReg.com (find the easy link from the Salina Region website).

If you missed it, Jim Harrison from the Wichita Region will be at the Divisional on Friday night to put on a Safety School for all those who would like to become a Solo Safety Steward. The safety certification is good for three years now so this is a great time to get your certification.

At Divisional Championships and at Tours and Nationals, everyone in a class runs together. If you

Next Event <</p>
Solo Performance Specialties / R&S Racing
Divisional Championship Solo
June 3 & 4
See Flyer, Page 7 – (Also a Solo Safety Steward school June 2)

Registration is now open – use link at www.salinascca.com

Each day scores as a separate event in the MiDiv Solo Championship. The two days are scored together for event trophies and also for the Salina Region Championship (with bonus points!).

noticed in the last newsletter we have adopted run groups for our local events to also keep classes together. We have had requests to do such so the board decided to give it a try. So now everyone of a class will run together to help eliminate any potential differences from running different heats. It was tried for the first time at our May autocross.

These run groups will switch each event so one class will not always run in the first or second heat. That way we all get to run in the monsoon or the 105-degree heat together. Let us know how you like the setup, and if there is anything else we can do to make our events more fun.

See you on course,

-Monte Rans, RE Salina Region





racir

Next Business Meeting

TBA

Location TBA

Business meetings are open to all members and guests

² egional Executive Views



Board Members ~ 2017

• Regional Executive MONTE RANS, Hesston 620-327-2711 / mcrans@cox.net

• Assistant R.E. JIM HUND, Manhattan 785-550-2655 / jvhund00@gmail.com

• Secretary CHRISTOPHER HUND, Hays 316-841-0190 / crhund@hotmail.com

• Treasurer / Asst. Equipment Manager KEN KENNEDY, Salina 785-643-2225 / kennethkennedy@cox.net

• Past R.E. BILL PREHEIM, Minneapolis 316-772-3638 / cpreheim42@hotmail.com

• Solo Chair RADLEE BIEN, Manhattan 479-616-6195 / radleebien@gmail.com

• Member At Large Chief Registrar SUSAN PULS, Hutchinson 620-663-9124 / susan@hisuppply.kscoxmail.com

> • Member At Large Newsletter and Membership ROCKY ENTRIKEN, Salina 785-827-5143 / rocky@spitfire4.com

• Member At Large Chief of Tech RODNEY WALTERS, Abilene (785) 209-1036 / fairwarning5@gmail.com

• Member At Large Equipment Manager ABNER PERNEY, Salina 785-822-8570 / abscars@yahoo.com

• Member At Large Webmaster BRIAN TEFFT JR., Topeka 785-220-1835 / btefft13@gmail.com

• Member At Large Social Media /Facebook ARTT MANN, Manhattan 785-565-3155 / racermann@gmail.com

Salina Region Schedule ~ 2017

All at East Crawford Recreation Area unless noted elsewhere

Event Chair Safety June 3-4 – Divisional Solo Brian Tefft Jr Susan Puls July 9 - Solo Artt Mann Dennis Smith July 30 – Solo (R.E. Challenge 17.1) Monte Rans Randy Puls Aug. 27 – Solo Dan Rowland Artt Mann Sep. 10 - SoloDennis Smith Monte Rans Oct. 8 – Solo (Octoberfast 28) Salina Rgn Board Dennis Smith Oct. 15- Solo at Yoder (R.E. Challenge 17.2) Wichita Region — Nov. 5 – Solo Jim & Chris Hund Bill Preheim



SPS/R&S MiDiv Solo Series - 2017

Apr 22-23 Heartland Park Topeka

May 20-21 Oklahoma City (Remington Park)

June 3-4 — Salina (East Crawford Rec. Area)

July 8-9 — Neosho, Mo. (Crowder College)

Aug 12-13 — Lincoln, Neb. (Lincoln Airpark)

SCCA 2017 Solo Nationals ~ Sep. 5-8 ~ Lincoln. Neb.

MEETING MINUTES

(Subject to correction and approval at the next Salina Region board meeting)

May 21, 2017

The May 21 Board meeting was called to order at the East Crawford Recreation Area. Present were Monte Rans, Ken Kennedy, Susan Puls, Radlee Bien, Jim Hund, Abner Perney

Motion to approve previous minutes by Ken, Radlee seconds, motion passes Motion to approve treasurers Report by Susan, Radlee seconds, motion passes

Old business:

Sanctions for rest of season: Radlee and Monte will take care of. MiDiv championship event: Radlee and Monte have it taken care of. Rulebooks: In the trailer.

Goodie bags for Divisional: In the trailer.

Rocky's blue folder, in Abner's possession.

New Business:

Trailer needs new door stops and oil dry on hand.

Motion approved for Ken to make three new sets of trailer keys for other board members.

Board discussed a cart to load cones onto, to easily load them into the trailer. Ken will check into specifications and costs and will inform the board next meeting with his findings. Board decided to discuss this further at a later date or via email

Board discussed the need for a place to store the old equipment. Ken suggested and will provide options for offsite storage in Salina.

Divisional Championship event: Board discussed the need to inform drivers of their performance after their runs; board decided for a second grid person, have a sticky note pad, write down their times, DNFs, cone count, etc. and give to the driver after each run. If we do not have enough workers to fulfill this duty, we will recruit somebody for the assignment, and give them a free entry to a future event if necessary.

Meeting adjourned by Monte, Radlee seconds. Meeting adjourned.

--Submitted,

Jim Hund, acting secretary



A calendar of Solo and RallyX events by the Wichita, Kansas, Kansas City, Nebraska, NeOkla and Oklahoma Regions of SCCA. Go see how others do it! ALWAYS CONFIRM THE EVENT BEFORE MAKING A LONG TRIP!

(* = Salina Region event on this date) **AUTOCROSS** May 26-28.. ProSolo/Champ Tour@ Lincoln Airpark, Lincoln, Neb Jun 4.....*. NeOkla @ Old Tanger Outlet Mall, Stroud Jun 10 KC @ BRPDC, Independence (Starting Line Sch) Jun 11 KC @ Blue River Prec Driving Cntr, IndependenceNebraska @ Lincoln Airpark, Lincoln, Neb Oklahoma @ Remington Park, Oklahoma City Wichita @ Sunflower Aerodrome, Yoder Jun 24-25... Kansas/KC @ Heartland Park Topeka (double solo) Jun 25 Wichita @ Sunflower Aerodrome, Yoder NeOkla/Oklahoma @ Old Tanger Outlet Mall, StroudWichita @ Sunflower Aerodrome, Yoder Jul 9..... Nebraska @ Lincoln Airpark, Lincoln, Neb Oklahoma @ Remington Park, Oklahoma City Jul 22-23.... Kansas/KC @ Heartland Park Topeka (double solo) Jul 23...... NeOkla @ Old Tanger Outlet Mall, Stroud Wichita @ Sunflower Aerodrome, Yoder Jul 30.....*. KC @ Blue River Prec Driving Cntr, Independence Aug 5-6 Kansas @ Heartland Park Topeka (multi-event weekend) Aug 20 NeOkla @ Fair Meadows, Tulsa State FairgroundsWichita @ Sunflower Aerodrome, Yoder (Test & Tune) Aug 27* . KC @ Providence MC Amphitheater, Bonner Springs*. Oklahoma @ Remington Park, Oklahoma City

<u>RALLYCROSS</u>

Jun 18...... Nebraska @ I-80 Speedway, Greenwood, Neb. Jul 15...... KC @ Thunder Valley Sand Drags, Grain Valley, Mo Jul 16...... Nebraska @ I-80 Speedway, Greenwood, Neb. Aug 5-6..... Kansas @ Heartland Park Topeka



Five road course tracks are within a 3½-hour drive of Salina. Be part of the action as a race worker -- flagging on corners, timing, grid, tech, etc. Or driver? • Hallett Motor Racing Circuit, Hallett, Okla. • Heartland Park Topeka, Ks. • Raceway Park of the Midlands, Pacific Jct. Iowa

Jun 3-4......*. MidAm @ Raceway Park of the Midlands Jul 22-23......Majors @ Motorsports Park Hastings Aug 5-6.....MidAm @ Heartland Park Topeka TRACK NIGHT IN AMERICA Jun 22.....@ Heartland Park Topeka Jul 20.....@ Heartland Park Topeka Aug 24.....@ Heartland Park Topeka Sep 13.....@ Heartland Park Topeka



New SCCA Prez is an autocrosser

TOPEKA, Kan. (May 15, 2017) – Michael Cobb, a member with more than 25 years of diverse experience transforming brands, companies and cultures, has been chosen unanimously by SCCA's Board of Directors to be the new President and Chief Executive Officer of SCCA. Cobb will officially embrace his new role June 1 with the Club.

The Dallas-area resident comes to the SCCA after serving as chief marketing officer for Gold's Gym, one of the most recognized names in fitness. During his tenure at Gold's Gym, Cobb leveraged his marketing, business development and operations leadership skills to help reposition the company, expand the brand's footprint and deliver new products that capitalize on emerging consumer trends.

Lee Hill, Chairman of SCCA's 13-member Board of Directors, said Cobb emerged as an extremely strong candidate from seven finalists considered for the position.

Prior to Gold's Gym, Cobb established a strong track record developing and operating several different agency business units for Omnicom, one of the most dynamic marketing communication companies in the world. He has led marketing efforts for brands such as Pizza Hut, Burger King, Pepsi, Lipton, KFC, Dannon and Frito-Lay. He has shown a particular knack for "activating" brands and businesses with solutions that attract customers, inspire stakeholders, create community and drive growth. Cobb graduated with a bachelor's degree in advertising from Sam Houston State University.

While Cobb arrives at the SCCA with fantastic professional credentials, he also brings with him a love of motorsport. He grew up in admiration of his father, an autocrosser who won local SCCA events with regularity. Cobb established his competition career at an early age by winning a Texas Soap Box Derby event, and competed in the Nationals in Akron, Ohio. In 2007, he began participating in SCCA autocross with the Texas Region, claimed the Novice of the Year award in his first full season. He competed in the Tire Rack SCCA Solo Nationals in 2008 driving an Audi TT in D Stock.

"Of course, the thrill of competition and having fun with cars is a big part of the SCCA lifestyle," Cobb noted. "The camaraderie and relationships built through club activities are a huge part of the equation, too. I am just as passionate about building relationships based on trust, respect and integrity as I am about winning my class at the next autocross event." Page 4 ~ May 2017



Randy Puls took over the May event, and most Salina Region members know his affinity for Mighty Mouse, which flies off the doors of his Miata. But then this season Randy has been campaigning his Corvette, and even spouse Susan, who'd raced the rodent in the first three events, left it home on this day.

Four classes featured tight competition, with the top two in each separated by less than a second, but none as much a nail-biter as STO4 in which newcomers Dennis Kanapsky and Matt Snyder brought a Miata from Manhattan and after six runs ended up separated by just 0.006 of a second. It looked like Snyder's event as he ran off a tight grouping of mid-60s, his best a third-run 64.924. He followed it with a 63 but it had a cone. Co-driver Dennis Kanapsky spent his runs working steadily down from the high 60s and finally clocked a 64.918 on his next-to-last attempt. His final shot was also a cone-marred 63.

H Street renewed the ongoing duel between Don Herrick's Fiesta and Abner Perney's Volt. It was over early, Herrick setting his winning 60.552 on his very first run, then Abner clocking 60.919 in his second try. The 0.367 sec margin stood up as the pair began assaulting cones.

STS produced a final margin of 0.858 sec, Mike Herrick over Monte Rans while young Conner Herrick got his first drive in a real car, running within eight seconds of dad (if you ignore that pylon).

B Street produced the fourth close one, with Randy Puls on the wrong sided of a 0.891 gap behind Jason Stockton.

Radlee Bien set FTD at 49.051 in his F Mod Red Devil, the only driver to break 50 seconds. Mark Hill posted FFTD at 52.845 in his STU Mitsubishi, the only driver to break his motor in the attempt (sorry 'bout that, Mark; hope you get it back together soon!). Sharon Brillhart ran off a string of low 60s in her Miata then broke through with a pair of high 50s, taking Fast Lady at 58.834, the only distaff driver to break 60 sec.

Run the Divisional Championship Right here in Salina, June 3-4

1. Support Your Region. Help Salina Region put on a good showing to the rest of the Midwest Division.

2. Support Your Region. It's a points event in the Salina Region championship.

3. It's fun! Two days of autocross.

4. Enjoy a step up to the next level. You'll see some of the best drivers in the Midwest.

5. Make yourself a better driver. Nearly everyone at the top of the PAX chart will tell you they got there by going up against the best.

	관내권		シー・ティン	<u> –</u> – – – – – – – – – – – – – – – – – –				
~~~ Mighty Mouse • PAX Rankings ~~~								
Driver	Class	Time	Index	PAX				
Mark Hill	STU	52.845	0.831	43.914				
Joshua Holsworth	STP	53.583	0.820	43.938				
Douglas Hitchcock	STX	53.954	0.822	44.350				
Radlee Bien	FM	49.051	0.916	44.930				
Mike Herrick	STS	54.989	0.818	44.981				
Kyle Edwards	GS	57.050	0.793	45.240				
Andrew Shevlin	SMF	53.559	0.848	45.418				
John LaRandeau	FS	56.681	0.804	45.571				
Monte Rans	STS	55.847	0.818	45.682				
Jason Stockton	BS	56.202	0.813	45.692				
Randy Puls	BS	57.093	0.813	46.416				
Bill Preheim	ES	58.621	0.794	46.545				
Sharon Brillhart	ESL	58.834	0.794	46.714				
Ken Kennedy	SS	57.032	0.826	47.108				
Chris Bergevine	EM	52.496	0.905	47.508				
Don Herrick	HS	60.552	0.786	47.593				
R Abner Perney	HS	60.919	0.786	47.882				
Lenard Holsworth	STP	58.847	0.820	48.254				
Natasha Bergevine	DS	60.493	0.801	48.454				
Ann LaRandeau	FSL	60.413	0.804	48.572				
Brian Hardeman	STO6	59.995	0.816	48.955				
J.D. Baughman	SMF	57.773	0.848	48.991				
Jim Hund	BS	60.764	0.813	49.401				
Henry Brillhart	ES	63.094	0.794	50.096				
Michael Mace	CP	59.602	0.854	50.900				
Lance Cochran	AS	62.239	0.819	50.973				
Connie Preheim	ESL	66.067	0.794	52.457				
Dennis Kanapsky	STO4	64.918	0.813	52.778				
Matt Snyder	STO4	64.924	0.813	52.783				
Conner Herrick	STS	64.631	0.818	52.868				
Susan Puls	BSL	65.268	0.813	53.062				
Jim Gillett	ES	68.554	0.794	54.431				
Blake Johnson	STO8	66.662	0.819	54.596				
Zach Smith	STO6	68.059	0.816	55.536				
Chase Kaiser	STO4	69.167	0.813	56.232				

# FOR SALE

• Set of 4 Sport Muscle ZR wheels with Bridgestone Potenza RE-11 tires. Fit C6 Corvette. Front 18x8.5, rear 19x10, and have OER tire pressure sensors. Tires 200 tread wear with approx. 50% tread on rear and 25% or less on front. \$700. Call or text Ken Kennedy 785-643-2225. • 1983 Chevy Camaro. 29,000 miles. Prepared for ESP. This is a fully sorted National Champion Winning Car. Pro Solo National Championship 1996, Multiple National Tour and Pro Solo Event Winner, Multiple Divisional & Regional Championship Winner. Put on new tires and be prepared to win. Three sets of wheels and many extras. \$10,000. Rob Pickrell 785-826-0181





### Salina Region SCCA ~ May 21, 2017 ~ East Crawford Recreation Area, Salina

		-						_		
	Driver		Make	Run 1	Run 2	Run 3	Run 4	Run 5	Run 6	Best
SS	<ul> <li>Ken Kennedy</li> </ul>		Corvette	77.187	59.459	58.313	57.762	57.032	56.900+1	57.032
AS	<ul> <li>Lance Cochran</li> </ul>		Corvette Z06	D.N.F	62.863	62.542	60.239+1	61.570+2	59.457+3	
BS	<ul> <li>Jason Stockton</li> </ul>		Corvette	57.020	57.283	56.841	56.470	56.202	56.852	56.202
	Randy Puls		Corvette	65.393+2			57.647	57.867+1	57.093	57.093
	Jim Hund		Corvette	D.N.F	60.033+2		58.093+3	D.N.F	D.N.F	60.764
BSL	<ul> <li>Susan Puls</li> </ul>	7		63.268+1	65.786	66.503	66.313+1	67.958+1	65.838	65.268
DS	<ul> <li>Natasha Bergevine</li> </ul>		Subaru WRX	69.402	61.732+1			60.493	58.020+3	
ES	<ul> <li>Bill Preheim</li> </ul>	1	Mazda Miata	60.254	59.737	60.330	60.053	58.661	58.621	58.621
	Henry Brillhart	128		D.N.F	D.N.F	63.094	D.N.F	62.582+1	63.093+1	63.094
	Jim Gillett	99		D.N.F	D.N.F	D.N.F	D.N.F	D.N.F	66.554+1	68.554
ESL	<ul> <li>Sharon Brillhart</li> </ul>	28		61.676	61.807+1			59.604	58.834	58.834 FL
	Connie Preheim	11		D.N.F	66.070+1	67.907	66.067	66.903+2	67.385	66.067
FS	<ul> <li>John LaRandeau</li> </ul>	92		57.427+2		57.168	55.490+1	56.317+2	56.681	56.681
FSL	<ul> <li>Ann LaRandeau</li> </ul>	92		63.508	61.303	D.N.F	D.N.F	60.413	59.659+1	
GS	<ul> <li>Kyle Edwards</li> </ul>		Ford Focus ST	59.803	59.874	58.748	59.553	57.835+2		57.050
HS	<ul> <li>Don Herrick</li> </ul>	8		60.652	D.N.F	D.N.F	D.N.F	65.923	58.552+1	
	Abner Perney	1		61.754	60.919	61.045	61.437+2	61.421+2	60.773+1	60.919
STU	<ul> <li>Mark Hill</li> </ul>		Mitsubishi Evo IX	52.845	51.350+2	D.N.F	50.429+2	D.N.F	D.N.F	52.845 FFTD
STX	<ul> <li>Douglas Hitchcock</li> </ul>			56.014+1	D.N.F	54.188+1		D.N.F	54.018	53.954
STS	<ul> <li>Mike Herrick</li> </ul>	130		55.702	55.217+1		54.345+1	55.728	54.989	54.989
	Monte Rans	34		56.286	56.662	56.219	70.147+2	57.125+1	55.847	55.847
	Conner Herrick	30		69.806+2		D.N.F	65.264+1	62.631+1	64.032+1	
STP	<ul> <li>Joshua Holsworth</li> </ul>	55		54.930	53.583	53.903+1		54.133+1	55.088	53.583
	Lenard Holsworth	155	0	57.253+2			56.426+2	56.897+4	58.358+1	58.847
ST08		0		78.087	71.477	91.411	66.662	64.856+1	64.823+2	
STO6		41		D.N.F	60.330	63.435+2		60.744	60.388+1	59.995
	Zach Smith	13		74.068+2		70.354	69.531+1	67.832+1	66.059+1	68.059
	Cutter Hardin		Monte Carlo	95.945	89.913	82.563	78.380	76.235+1	75.443+1	77.443
STO4		24		70.785	69.805	67.087	D.N.F	64.918	63.837+2	
	Matt Snyder	124		68.379+2			63.413+1	65.745	66.304	64.924
	Chase Kaiser	55		78.110	D.N.F	71.217+2		69.314	69.167	69.167
SMF	<ul> <li>Andrew Shevlin</li> </ul>		Honda CRX	55.680+1				51.863+2	53.527+1	53.559
~-	J.D. Baughman	89		58.840	57.773	57.816	57.355+1	57.182+1	59.751+2	
CP	<ul> <li>Michael Mace</li> </ul>	86		D.N.F	60.367+2			59.749+2	59.602	59.602
EM	<ul> <li>Chris Bergevine</li> </ul>		Exomotive Exocet	D.N.F	54.564+2			52.496	50.587+2	
FM	<ul> <li>Radlee Bien</li> </ul>		Red Devil	D.N.F	50.024+1				49.051	49.051 FTD
		• = Trop	ohy FTD = Fast Tir	ne of Day	FFTD = F	Fast Fender	FL = F	ast Lady		
	SALINA	Dr	GION SO	DLO	Сцл		DNSH		20	17
-										
	ALINA REGION MEME		Points follow							CAL EVENTS
SS-R	Larry Brady• 12 Deborah Jarboe 12		Aatthew Sittel 12 C Chris Bergevine• 9	S Kyle Edw Chris Hu			Blake Johnson Brian Hardema		EM Chris FM Radle	Bergevine• 12 e Bien• 24
SS	Ken Kennedy• *48		ames Green• 36		Bergkamp 9		Zach Smith			Hagen• 12
AS	Lance Cochran• 30	F	Rocky Entriken• 27	Jim Hood	1 . T	7 (	Cutter Hardin	7	JA Maso	n Herrick• 24
DO	Johnny Huang 24			IS Don Herr			Dennis Kanaps			er Herrick• 18
BS	Joey Green• 36 Jason Stockton• *32		lank Brillhart• 21 lim Gillett• 18 S	Abner Pe TU Mark Hill			Matt Snyder Chase Kaiser	9 7		n Puls• *38 a Haynes• †36
	Randy Puls• *26				Hitchcock• 12		Marcia Haynes			e Bien• 33
	Clay Johnson• 23			TS Mike Her			Marcia Haynes			Hund• 33
	Jim Hund• 18 Radlee Bien• 9		Susan Puls• 26 essica Green• 21	Monte Ra Russell S			J.D. Baughmaı Andrew Shevli			er Herrick• 25 Bergevine• 21
BSL	Marcia Haynes• 12		essica Green• 21 Connie Preheim• 21	Conner H			Brian Tefft Jr•	36		Bergevine• 21 three classes
	Susan Puls• 12	J	ulianne Green 7 S	TF Tim Bead	ch 24	4 E	Brian Tefft Sr•	9		
DS	Chris Hund• 21			TP Joshua H			Michael Mace•			sional is not a "local" event
	Natasha Bergevine• 12 Jasan Shi 12		/lark Castle    18 Ann LaRandeau•  *48  S	Lenard H TO8 Jeff Hund			Rodney Walteı John Mace	rs• 33 18	counted as	a "local" event
				. se con name	. 12			10		



**Dear Prospective SCCA Member:** To apply for a membership in the Sports Car Club of America, the world's largest motorsport enthusiast organization, please complete the form below and return, with payment, to SCCA Membership Department, P.O. Box 299, Topeka, KS 66601-0299.

· · · · · · · · · · · · · · · · · · ·	Birthdate	
· · · · · · · · · · · · · · · · · · ·	Birthdate Birthdate Birthdate	
	Birthdate Birthdate	
	Birthdate Birthdate	
	Birthdate Birthdate	
	Birthdate	
ticipate, or ir	terests you the most.	
licipale, or in		
ycross 🛛 S	Solo 🛛 Vintage 🗖	Pro Racing
¢95 00		¢105.00
-	•	\$105.00 \$185.00
•		
\$215.00 -	□ 3 Year Family	\$265.00
	<b>^</b>	
	\$	<u> </u>
••••••••••••••••••••••••••••••••••••••		-\$15.00
	— "	-\$15.00 -\$15.00
		\$15.00
CCA Region,	I agree to conduct my	self according
Date (	(Required)	
t Card D	Monov Order	
	•	onal dues prior to
	Exp(	CVV#
asterCard or L	Discover account numb	er for payment.
es are not dedu	ictible as charitable contri	ibutions
	ember Number s selected. Tr CCA Region, in a manner Date ( t Card utomatically be asterCard or I	\$150.00



MiDiv Event #5 & 6





**Presented by:** 



### Friday, June 2nd

4 p.m. to 7 p.m.
 Course open for walking
 Tech and check-in at North End of site near Dean Evans Stadium
 You must show your current Drivers License and SCCA member card at Registration
 Refreshments provided by the Region
 7 p.m. - Solo Safety School, Location TBA

#### Saturday, June 3rd

7:00 a.m. – Site open

7:30 a.m. -- 8:30 a.m. - Late check-in and tech by appointment only
8:30 a.m. - Divisional first-timer's course walk and orientation
9:00 a.m. - Driver's meeting (drivers must be present to compete)
9:15 a.m. - Cars to grid and worker check-in
9:30 a.m. - First car off

**6 p.m.** – Catered dinner @ Martinelli's Little Italy 158 S Santa Fe Ave, Salina, KS 67401 Doors for dinner area open at 5:30 p.m. Limited trailer parking, car pooling recommended

#### Sunday, June 4th

7:00 a.m. – Site open 7:30 a.m. – Site open 7:30 a.m. – Site open 8:30 a.m. – Divisional first-timer's course walk and orientation 9:00 a.m. – Driver's meeting (drivers must be present to compete) 9:15 a.m. – Cars to grid and worker check-in 9:30 a.m. – First car off MiDiv event trophy presentation after end of competition on Sunday. CAMPING ON-SITE IS ALLOWED (NO HOOKUPS)

**Preregistration REQUIRED.** Preregistration is available on motorsportreg.com or by submitting the form below with payment to: Susan Puls, 900 S Main, Hutchinson, KS 67501. Make Checks Payable to Salina Region SCCA. 1 Meal included w/ 2 day registration.

Driver Name:		_Region:
Member Number:	Class:	Car Number:
(If SCCA Member) Car Year, Make, Model:		Phone:
Address:	Email	:

Circle Registration Choices: 2 Day Registration-\$75 Saturday Only-\$40 Sunday Only-\$40 Junior Kart/FSAE 2 Day-\$55 Junior Kart/FSAE Saturday Only-\$30 Junior Kart/FSAE Sunday Only \$30 Safety School-Free Trailer Parking-Free Non-Member Weekend Pass-\$10 Additional Dinners-\$13 each

### The Write Line

5alina, KS 67401 2731 Scott Avenue Sports Car Club of America Newsletter of the Salina Region





You must be a member to enter SCCA events. There are several different types of membership available, including Regular, Family, First Gear (under 25) and Military, plus short-term Weekend Memberships (we charge \$5). Find more information at www.salinascca.org, www.scca.com, or call Salina Region membership chair Rocky Entriken at 785-827-5143 or e-mail rocky@spitfire4.com.

If you live in Manhattan, Ft. Riley or Junction City and have enjoyed competing in or attending our events, we'd love to have you become a member of our happy little club. If you should choose to join SCCA in our Region, be sure to use the membership form found in a Write Line or be sure to indicate "SALINA REGION" in the space above the signature. Geographically, Riley and Geary counties are in territory of our Kansas Region neighbors and SCCA will put you there if not told otherwise. Of course, once an SCCA member, you're welcome at any region's events. You'll find a listing of our neighboring regions' events in the "Events Elsewhere" calendar inside.

Normally your R.o.R. is the area in which you live, but it doesn't have to be. We have members who live in other Regions' territories, and some of those

The categories of SCCA membership are somewhat confusing. In order to be

eligible for all the programs of SCCA you need to be a National member, which includes a "local" region of your choice. This becomes your Region of Record.

regions have members who live in our territory. You may also join as many other regions as you like, paying their local dues for the purpose of winning local championship points, receiving newsletters and

participating in their programs. These are "Associate" memberships. Salina Region's Associate Members are eligible for all our championships and benefits.

The final option is to simply pay local region dues, in which case you are merely a newsletter subscriber, and not eligible for Regional awards, Divisional points or to compete in major SCCA events.

#### Associate memberships are due now for the year 2017 •••

· Associate memberships are for the calendar year provided your National membership is active. Join now, and your membership begins immediately and

 Subscriptions are available for non-SCCA members also at \$15.00 per calendar year. Please send a check payable to the Salina Region SCCA, c/o The Write

Line, 2731 Scott Avenue, Salina, KS 67401. A code in the corner of your mailing label indicates status. A code like 09-17 indicates a Region-of-Record member expiring at the end of that month. A code such as A17 or FA17 indicates an Associate Member expiring at the end of that year. A month indicates someone not a member of Salina Region who ran

with us at a recent event or asked for a newsletter. Other codes refer to

complimentary copies being sent this year.

runs through 2017. Dues are \$15.00 for single memberships or for family memberships (which includes spouse).

SCCA Membership notes: